113

DB KILLER N°32B
Co0d.307762801

LV ONE EVO silencer Stainless s. black
@i 50X370 RHS
Co0d.3014331485

2X Knurled collar nut M5

Cod.204407

Carbon clamp FMS5SH
c0d.3014149501

2x Aluminium spacer
@11X25x h14
Cod. 206510

Pipe N°1373

Co0d.3014376201

OPTIONAL
cod.5684

Allen screw M5X12
T.B.E.l
Cod.201031

Carbon clamp FM8
cod.308741501

Allen screw
M5X14 T.B.E.I.

Cod.204805 Short helical spring
tensile

C0d.303949001

Strap in stainless
steel @35
Co0d.300035530

TO COVER
FRAME HOLE

T.C.E.l. Z.B.
Co0d.204482

2x Allen screw M10X60

ART. 14376EB

YAMAHA X-MAX 300/ TECH MAX

3X Aluminium spacer
@25XH12,5 X10.5

Cod. 206272

Allen screw M10X40x1.25
T.C.E.l. Z.B.
Cod.204109

SLIP-ON - LV ONE BLACK - STAINLESS STEEL BLACK




	DT-14376EB
	Vista del disegno1
	Vista del disegno3


